P PROFESSIONAL EXAMINATION BOARD
@b@’é%?”&”ouo” Middle School Teacher Eligibility Test — 2018
25th Feb 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) A person’s IQ is initially represented by ratio of a person’s age divided by his/her_______age. / forelt safaa &1 §'® afsr &Y =
i sARUIRaITafdsl__ 3mg ¥ srgura | gxiiar Sirar 3|

1. Real Intentional, Stereotyping / IRAMS e, WA

2. Chronological, Neurological/ Ghlﬂl'j,d?mfh, afa®

3. Chronological, Mental/ BT Ha, AFRI®

4. Mental, Chronological/ AR, Wm

Correct Answer :-

« Mental, Chronological/ ﬂﬂm, WW

2) Which genetic problem is associated with heart defects? / §&d fd®R & Iy B { STIaiRIs qaen 2
1. Turner’s syndrome / E:f'\rﬁl@'q

2. Down’s syndrome / Wﬁl@ﬂ

3. Autism / 3ffeeH

4. ADHD / TSIl

Correct Answer :-

e Down’s syndrome / Wﬁl@ﬂ

3) Which of the following age ranges is considered early childhood? / Frafafea & 9 fog 3 Har & wRAE T AT S %?
1.7t011/79 11

2. Birth to 2/ SFH 2

3.31012/39 12

4210 6/286

Correct Answer :-
c2106/296

4) The pain of a shoe bite from a new pair of shoes currently being worn is an example of / qaqaE A T&ﬁ Kl ?% ijﬁ 4} Th =|§ \‘rﬁ?ﬁ ] iﬁ & P
BT & SUPT TP ISIE0 &

1. Long-term memory / ad-pra Fﬂﬁf
2. Episodic memory / IR Fjﬁf

3. Immediate memory/ﬂWW%
4, Sensory memory/m@lﬁ

Correct Answer :-

« Immediate memory / dchIdl Fﬂﬁf



5) Ecological System theory, originally formulated by Urie bronfenbrenner, specifies four types of nested environmental systems that are also

called .l woreh Ry, St ga ¥0 A 39 Sha-R gRT duR far 741 8, R PR & Awes yafavr
yonferal Y Sy wwar g o ft FgT ST 21

1. Influential conceptualization/ TUTARITE SGEROM
2. Human development/ HIFd faw

3. Human ecology/ HIFd iRfyfaet

4. Intellectual development/ CliFCAECan]

Correct Answer :-

» Human ecology/ HId BIREIRE

6) Re-directing energy or aggressive goals toward new aims, often artistic, intellectual or cultural goals is called . / ¢ G B 3R St
T 3 THTHS AT DI YH: FISRIT BT, W SRR FATHS, SifGd U1 YiRplad ded e1d &, FHgaar gl

1. * Sublimation / SGRITGRUT
2. Compensation / afaex
3. Affiliation / H&¢

4, Rationalization / W
Correct Answer :-

« “Sublimation / G_C;"ﬁ‘ﬂWUT

7) Which of the following agencies is responsible for preparing curriculum framework for school education in India? / FEffET & d CaEk|

Toit, R § whelt e & RIT UTeusH TR dUR B & e Iarerd 82
1. NCERT

2. NEUPA

3.NCTE

4. RCI

Correct Answer :-

» NCERT

8) Law of Readiness highlights the need of before learning. / qeRar &1 fraw, Siftrm & qﬁ P STaRgHAT
W YHTR STea g |

1. Experience / 3{JHd

2. Reinforcement / WT'T

3. Practice / I¥TH
4, Maturation / gRusdr

Correct Answer :-

« Maturation / gy

9) What is the ‘magic number’ according to Miller’s theory on chunking? | APTR AR S Rigia s SR AfTE R ?F‘JT%?
1.2 (+/-3)
2.9 (+-1)

3.5 (+-2)



4.7 (+/-2)

Correct Answer :-
o 7(+-2)

10) What type of Gardner’s multiple intelligences is used during a dance performance? / aﬂm ¥ EaTF{, MR F P TPR S agg@‘qm Cal
IURT T Sirer 72

1. Naturalistic intelligence / TTHTA® g

2. Intrapersonal intelligence / I CNEDIELED g@

3. Linguistic intelligence / Wﬁ@'@

4. Bodily-kinesthetic intelligence / IRIRG-TTRIdE! §fG

Correct Answer :-

« Bodily-kinesthetic intelligence / IRIR&-Tfawidd gfg

11) What do individuals scoring highly on neuroticism experience? /vrgdh (ﬂ:ﬂﬁﬁ'ﬂ’) SJHd ﬁ, fa &) watfis SJHd @HT%"
1. Uncontrollable happiness/ 3Ffd urefar

2. Mixed emotions/ 3@ yr@

3. High stress and anxiety/ 3@ d-1d Gh?w

4. Positivity/ GHRIHB AT

Correct Answer :-

« High stress and anxiety/ 3= d-1d 3R UsRTgc

12) As a teacher, what is the best way to help students in a problematic situation? / T e & wu A, guwnrd e & ol #) 7eg w1 @1
T 3T APT /T 32

1. By reward / S9TH TR

2. By punishment &S TR

3. By providing solution / THIYTT Ul D

4. By giving similar type of problem to solve /&<l A & forg =3t UpR @ gEEr TR

Correct Answer :-

« By giving similar type of problem to solve /&d P & foIe 3 TR $ TR SR

13) Children start experiencing peer group influence by around the age of: / T dPHaT 1 J Wﬁw YHTT BT JHT DT RS B
1. Five years kL

2. Four years / R CL

3. Three years / dad

4. Six years / &: L

Correct Answer :-
» Six years/ 9: L
14) Which of the following is not a characteristic of working memory? Fafafaa & & o9 ot ge= Wﬁf (a'ﬁ)_‘T ﬁ":ﬁ'\ﬂ) P fa=ivar qﬁ%”

1. It involves rehearsal / 388 Rgda wfid g1
2. It is permanent / T8 Rt g



3. It is active / Wﬂm%l
4. It involves manipulation / m Gﬁ@'—a@? RIS % |

Correct Answer :-

« Itis permanent / T8 QT I

15) Which of the following best describes ‘learning’? /FrafafEa & & S9-91 AR 31 g 33T quiv SR %‘.’

1. The process of acquiring knowledge and skills through listening to the teacher. / Rigiw Eb;fﬁ:ﬁ ST Y EUGl 3R P U A b ufspar
2. The process of gaining facts and information through rote memorization. / J& JERUI P T Y qt 3R STHBRY U &R 1 i

3. The process of gathering information by reading and writing. / qﬁ IR feraq & e SH&RT EEgl %A @ Uik

4. The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 3 fag ?-., Giﬂlﬁﬁ, HEY, sﬁfﬁ

3R TR & HIEOH T FH, DI 3R e U B4 o1 ufebar

Correct Answer :-

» The process of acquiring knowledge, skills and dispositions through our thoughts, experiences, study, senses and sharing./ 3O ﬁaﬁ, Gfﬂ“-l'a S, EE
3R AT & HIEH | T, IR AR U UIed 3 1 Ufshar

16) Which of the following stages of psychosocial development do not occur in childhood? / HFAR® faT & frafefad arol & | #19 I =R gauq
At e?

1. Autonomy vs. shame / XTIl §H Rk

2. Trust vs. mistrust / a4 S19 i

3. Intimacy vs. isolation / SfcRITT SHTH 3T

4. Tnitiative vs. guilt/ U8 SHTH SORTY Y

Correct Answer :-
« Intimacy vs. isolation / 3T §HTH S{eTd

17) Which of the following embodies the idea that individuals learn through experience? / fFafaf@a # 3o far qﬁw aar % od 3JHd
F w1 9 wfaa draar g2

1. Universality / gdaruddr
2. Nature / Hefﬁl

3. Nurture / TTS0T

4. Determinism / Fafaarg

Correct Answer :-

« Nurture / Y01

18) Language of word is not necessary for: / RTeG) Pt HTHT 3'\“%? forg srmaza® qﬁ%
1. Conceptual thinking / EEIRCAERES

2. Perceptual thinking / SAYRUTEHD fKid

3. Imaginative thinking | BRI fefd=

4. Associative thinking / BSIRERAEGE]

Correct Answer :-

« Imaginative thinking / Heq-TRITd fec

19) While Piaget gave importance to biological factors governing development, Vygotsky ascribed importance to ./ foramst 9 feer ot fifa

P AT HAAP PRP| B A 4T, STafP TSNP A SqP e T BRI IAMT:



1. Thinking process / = ufesar
2. Social interaction / SIS Tudh
3. Physical factors / 1ifis PRD

4. Environmental factors / TOIaRUNI HRE

Correct Answer :-

« Social interaction / GTHIT®G Tudh

20) Students from underprivileged background are facing learning difficulty. Most likely factor that is affecting them is -/ dfua qg‘;[ﬁ-r F B B

e # HISTE BT HHAT $IAT US 61 8| TH HHIAT SRS Sl 3¢ THIId YBT3 A6 6 -
1. Individual needs/ fFITd SMMAIHATT

2. Lack of sleep/ i Pt B!

3. Stress/ d-Id

4. Cognitive capabilities/ GTED &I

Correct Answer :-

« Individual needs/ SfGFT SMALIHATY

21) MBTUD’s approach for a personality assessmentis ./ wfeid 11?1139_'[ * 1%113 E’Hﬁ?ﬂ\'ﬂﬁm EHical . %I
1. Perception/ YRUI

2. Projective/ yad

3. Structured/ TRTd

4. Judging/ 3fTh-1T

Correct Answer :-

« Structured/ WA

22) The theory of Constructivism was propounded by . /ﬁ'ﬂfuﬁﬁ &1 Rigia - * g1 wfaufee faar mar Ut
1. Erikson /Qﬁaﬂq

2. Bandura /ﬁ@?‘[

3. Vygotsky /H@ﬂ?\‘?ﬁ

4. Kohlberg / Tﬁ?ﬁaﬁ

Correct Answer :-

e Vygotsky / EIENIRS]

23) When new ideas are incorporated into existing ideas they are known as WASCKE LY ma’ﬁtﬁw fey A mmm%, @ 3%
FEURAATACIG

1. Accommodation / 3JH
2. Replication / Uﬁmﬁ

3. Assimilation / STHITAH T
4. Reproduction / GT=dlaT
Correct Answer :-

o Assimilation / 3THIATIH U]



Using our phones while driving is an example of what kind of attention? /3131%‘1 A THT AR B BT ST BT 5T UHR F Sraen= &1 T
IR &7

1. Signal attention / ReTat srgum
2. Diffuse attention / ﬁﬁﬁ 3AY
3. Selective attention / IGATHD AU

4. Divided attention / faHad 3@u™

Correct Answer :-

« Divided attention / fqHa 3@y

25) Which of the following approaches to motivation does not rely on an intrinsic source? / aﬁﬁ'@r%ﬁmﬁaﬁ@aﬁ@aﬁqweﬁaﬁw
TS il | R R T wear @2

1. Cognitive / TRMTHD

2. Humanistic /HTGaTG!

3. Behavioural / SAdgRATG!

4. Socio-cultural /W-m

Correct Answer :-

« Behavioural / TA8RAIG

26) CANCELLED

Students with learning disabilities have significant in a school related area such as reading, writing, reasoning,
listening or math’s. / TG B SA&THAT ATA BT B Ipd A aTa &1 I U1, a1, 9 He1, Jo-1 a1 7019 o
wEaqui____ §dEl

1. Grasping / JHA

2. Knowledge /W

3. Problems / H&EIU

4. Difficulties / HISSAT

Correct Answer :-

« Difficulties /m’i

27) CANCELLED

Physical development in the child slows down by the age range of: /o= ® IR faer g 31g Har A 3’f SITdT %:
1. 6-9 years / 6-9 EL

2. 3-4 years/ 3-4 EL

3. 5-6 years / 5-6 E1

4. 4-5 years / 4-5 EL

Correct Answer :-

e 5-6 years/5-6 v

28) CANCELLED
Which of these could be a cause for GDD?

/0 A P91 NSS! F R T FRT 8 AT 82

1. Childhood infection / ST T HshHUT



2. Childhood obesity / S T HieTar
3. Strict parenting / T URARRT
4. Excessive intake of sugar and additives/ F+t IR Tfsfesy &1 srafis Yo

Correct Answer :-
« Childhood infection / S0 &1 HehHUT

29) Failure in performance is an essential part of Child learning process because: /Wih i SAH I, T & AferTH B uftear &1 Th erﬁanﬂ%w%
ifP:

1. it helps in developing self awareness. / dg Wmﬁﬁﬁmﬁﬁmmél
2. it prepares children for unpleasant experiences. /agaaﬁﬁaﬁ maua‘r%ﬁ—m%mw%l
3. it helps student in re examination. / T8 J: TeMT & & &1 Hac I 3|

4. it empowers children to understand that taking risks, big or small, is crucial in their learning journey. /Wﬁﬁm%mwméﬁ;m, CEl
A1 BT A1, 37 SHRRTH F Uy & eyl 2 |

Correct Answer :-

« it empowers children to understand that taking risks, big or small, is crucial in their learning journey. /?Ts'_@l?chﬁ SUEED %ﬁl’q SRESIEEIG] %fa'?\_rh@ﬂ, EEl

T BIeT A, ST IRTH & 7 F Heequ 2|

30) ‘Laura can design a spreadsheet’. This statement is an indicator of which attribute of aptitude test? / ‘FIT'*{T, Th sl %Txﬂg:l L2y ﬂﬂﬂ'ﬁ%l' qg PYH
AR Tdermr i fra fadivar &1 99w 82

1. Clerical thinking/av—ltfgﬁﬁq (ﬁlﬁﬁﬁq) IEGE
2. Logical thinking/ﬂ’t‘%m
3. Organisational thinking/Wﬁﬁ?

4. Numerical thinking/ 3fep fefa=

Correct Answer :-

« Logical thinking/?ﬁ%fﬂm

Topic:- General Hindi (L1GH)

1) BIA F W B & SHUR TP RIFSar 7 32 Y A1 F=19 3R TS 951 T A1 98 a1 | RIS o1 967 Sma-omd 3@1 w5 | o g1 S ad $Ii-g &
T UgT W SR et ok fifean St ot 96T So1 Uit | 3! ST § Sl s 1 |rerH Fan we i, gy ok st @Y off gy T e g & R # wReave
F I Iod | TRIAT ST EN? 313 fra 2 812 v 1 F g1 3% fbeaA oi g o=l & R 4 Fpa ™ 7= oS ¥ $4 Mwpai? 39 916l &1 Ware & arar
IS ST UT1 7 3T B TR F HH-STS F Puid 1 3R 7 I1g o B ygr-Rra= A1 1 7= A &1 & HaTa-srare $3d v 3d &1 aqeeh ¢ fear »a A1

IR TR BT UGB 1 TR T YA FT I« qa1z¢l

UR: B eg T 32

1. fae=h

2. dcaH

3. dd

4. 3T

Correct Answer :-

2) $E S W PIE S FR TP A7 o3 Ry 41 Fwrg ok It 967 7amwr 31 98 o A Rif3ar ) g7 3ma-o1a 3@ H3q | Fa Y 3i1a werd Ppifig &
A UgT A SR FreT o Rifgar S &1 98T 331 ure | 37! 3T § <Y S &1 HIelH F1 7ot firerar, g 3R sradl &Y oY o 1 35t 1 g & few § avg-ave
& HaTd 364 | T AT gl 3R fohd 98 g1 fa T & gl 374 fhaa 32 8 o= & R A Fipail? 7= 3R A $& a2 S 91d) &1 SaTd 3 ara
PIS TE AT 7 ST B WR &S BB A A A 3R 7 A9 o 1 vgA-Rrgm V1 G = 3o € F Hara-ware % oA fed #Y aweeh ¢ fear wea A

IR TR BT UGHR 1 TR T YR FT I« qa1s¢|



U Tl et e wid g 2
1. 3TH AP T

2. SR BT

3. Ul o1

4. 94 B

Correct Answer :-
. it

3) A F W FIE F SW T A oS 3y &1 F9 3R 3T 9871 T gl a9 e A RafSar i 967 sma-oma 3Rar w¥d | ga gl 3T Jed Sif- &
A Ugd S 3R et o Rl 1 @t agt 381 | S SE A Y = @Y 7 AreH Fa Aol e, gy SR st @Y oft gy 7 wed 9 F e § ve-ave
& HaTd 364 | T AT gl 3R fohd 98 g1 6| T & giil? 37 fohaq 32 B a=f & IR A a2 7= 3@ A B4 pal? S99 91d) &1 Sard 3 aral
PIg TET UT| 7 3T B T P BTH-BIS A Fd A 3R 7 a1g oft B Tga-fore ¥ 1 Sl 7= M € F Farer-_srare a3 30 fodt &Y aeeht & fear +a A1

IR TR BT UGHR 1 TR T YR FT IR qa15¢|

W= ol & e o« Hare Sea A2

1. T A DS T

2. I8 HY I3

3. Tpd B S|

4. 33 fpaA IS B

Correct Answer :-

. 3T fTHa IS B

4) FA S R PG F FW T ST 343 AT A1 F1a iR ITST 757 AT G4 93 WH  FafSar o a8t sia-wrd @ F3d | e A1 3iTQ Ao B &
T UgT W 3R FRrsT ok Rifan S o1 a5t doT1 urd | 3@ 3@ § S a=af o1 A ATy T Wt frerdn, gy SiR sraet 31 o o 7 et | S F fiw § are-aRe
P HaTd 334 | NI ST G2 32 fra 2 812 g 31 F g1 374 fbaq 8i g1 o= & W HA Frpa? 7= oS A $A Fpai? 39 a1d] &1 Siard S arar
IS ST UT1 7 3T B TR S HTH-PT A PRid 2 3R 7 I1g o B ygr-Rra= A1 1 7= A & o HaTa-srareg $d v a1 aqeeh ¢ faar wd A1

ST TN B TgHR ) D 7T U< $T Sk aa15¢l

u=: A § @ B gy 3sg 31 wafgardt a8 32

1.9R

2.0g

3. &R

4.gH

Correct Answer :-

5) $IE P W BT & FR Th RIfgar 3 o Ry 1 F39 3R ITFT 7877 71 ST 73 = W FafSar &) at sma-oira 3T #3d | IR A1 3iTQ Aera B &
TR UgT A SR RreT o Rifegar g &1 98T a1 Ut | 39! ST § Sl sl 31 HieH Fa1 WA firerar, g 3R sadt & o o 1 gt g & few § avsave
& AT 35 | GIGAT HAT1 gRI? 37 fraq 73 gl fora 31 & g1 30 fra oi i =il & R 4 it o= 38 @ 9 a2 399 91al &1 warg 4 aran
PIg TG AT 7 HT B TR & BTH-HI A Fd At 3R 7 a1g ot FY ygA-fore A1 1 7= M €t F arer—srare &3 30 fod &Y aaeett & fear +va A1

ST TR B UgHR - TR T U= $T SR qa1g¢l

T STgel § <of fraeT gue 82

1. SIRED

2. AELTD

3. SIfgE®

4, JIagaDH

Correct Answer :-



6) $IA F W HIH F FR TP FAFaT A 38 T A1 Fwra ik 39 957 T <41 98 o & FafSar 1 gt ama-omd < 3 | 7R <Y offd A wiffa &
T UgT W 3R FRret 3R Rifean S o1 a5t doT urd | 3@ 3@ & S a=af ot A Ay wn W e, g oiR sradt 351 o o 7 et 9 ¥ e § aRe-aRe
& HaTd 364 | T AT gl 3R fohdm 9 gl f6a T & giil? 37 fobaa 32 8 a=f & IR A Fipail? 7= 3R A B4 Mpal? S 91d) &1 Sard 3 aral
PIS TE AT 7 ST B UR &b BH-PTS A A 1 3R 7 719 o 1 vgA-Fram V1 Y =3 3o € F Hara-ware w% oA fed &Y aweeh ¢ fear wea A

IR T BT UGHR 1 TR T U= FT IR qa1s¢|

U= IIgen Bt P pead 8 o

1. Uad B G

2L RFEIY

3. Ue-fera ¥

4. QOI-UT6 &4 9

Correct Answer :-

. U g

7) P S W HIE S R TP A7 o3 Ry 41 Fwr@ ok Iwet 967 a1 a1 93 o | Rif3an &) g7 3ma-o1a 3@ $3q | e Y 3 werd i &
T UgT W SR et ok fifean St o) 6T So1 urd | 3! ST A Sl s 1 T Arerw Fan wen e, gy o st @Y off gy 7 el S & R # wReave
& AT 354 | GIEaT HAT gRI? 3 fhaq a2 B fore 31 & g1 I fram oi i =il & R & Frapelil? o= o @ A Frpail? 391 91dl &1 Sa1d &4 aren
PHIS ST UT1 7 3T B TR S HH-PT A Puid < 3R 7 I1g o B ygr-Rra= A1 1 7= A & o Hara-srare $d v a1 adeeh ¢ fear wa A1

ST TR B TP A9 TS T U PT IR qAT3¢N
UR: ST P uT T 2 32

1. &P HINT

2. 3rqdt HreT

3. 3R HTST

4. 3FSHT HTST

Correct Answer :-

o 3R YT

8) $A P W HIH F FW TP AT 313 Ry A1 Pz ik Iwe 9671 T G193 o & RS &1 et oma-ama 3 e | ¥R g1 3if) A wiffa &
T U A SR RreT ok fRifegar G &1 98T a1 Ut | 39! ST § <Y st &1 HIeH Fa1 WA firerar, go 3R sadt &Y o o 1 gt g & e § avsave
& AT 35 | GIGdAT HAT gRI? 37 fhraq a3 gl fra 31 & g 34 frae oi gl o=l & R & At o= 38 @ A Feai? 379 I1al &1 warg 1 aran
PIg TG AT 7 T B TR P BTH-HI A Fd At 3R 7 19 ot B ygA-fore A1 1 = M € F Tarer-—srare &3 30 fod &Y aaeett & fear +=a A1

IR T BT UGHR 1 T 7T YA FT I« qa13¢|
U: g fHus Hara-sae w4 A2

1. SIgen ¥

2. AOE A

3. 3T ¥

4. fsara

Correct Answer :-

o AU H

9) FAF W HIH & S TP RIFAT T 313 T U1 F@ iR ITP To7 T G179 A & RIS o1 8T SMa-orTa T&T $¥ad | W T 3T Herd Sii-d &
T UgT W SR gt ok fifean St o) 96T Sa1 Ui | St ST A Sl s ) T Arerw Fan we fArerar, gy ok st @Y off gu T e S & R # wReave
F AT Iod | TRIAT ST EIN? 31 fra 72 812 v 1 F g1 3% fbeaA oi g1 o=l & R 4 Fpa ™ a= oS | $4 Mwai? 39 916l &1 Ware & arar
IS ST UT1 7 3T B TR F HH-PTS A Puid 1 3R 7 q1g o B ygr-Rra= A1 1 7= A & & Hara-srare $3d 3uA a1 aqeeh ¢ fear »a A1

ST TR B TP A9 TS T U PT IR qAT3¢I
T=: 3T B frad Gad wiEt A

1. AF-YNhd HA

2. SAHAY



3. A IRA Y
4. YT

Correct Answer :-
. PEGTY

10) PTG & IR BT b FHUR TP AR 7 3 T A1 F21a iR IS 781 T 1 98 o= A FafSar &1 a6t Sma-na e w3a | R A1 3@ Wad Sii-19 &
A UgT W SR Rt ok fRifean gt o1 98T So1 Ui | S9! S § Sl S 1 7 |ierH w1 we fHerar, gy 3R st @Y o gy T et gl & few # arReave
& AT I5d | DT ST ERM? 3 e 98 g fr T & g S e o Bl 7= & R $A Fpail? o= 3 ¥ $ a2 39 aral &1 Siare 31 aren
IS ST UT1 7 3T B TR F SH-ST A Pid A1 3R 7 g s B ygr-Rre= A1 1 7= A & & Fara-orare $3& 34 3d &1 adeeh ¢ far sa A1

IR T HY TG 2 TS T U= HT IR Ja15¢ |

7=A: 33 A YT g A g B2

1. aa qd

2. Had ASA

3. ad fafgan

4, IR Taft

Correct Answer :-

. IWad gt

11) HIE S W P10 S SR T AFA 7 S R & $Tq R IS T8 WA AT 92 o= | Ffean o) 987 M-S &1 Ha | g 1 3@ Aerd diia &
TR UgT W SR FreT ok Rifgar S &1 981 a1 Ut | 39! 3T § <Y Sl &1 F HIelH FT WeT firerar, g 3R sradl & oY o 1 gt | g & e § avg-ave
& AT 364 | HIAT AT gRI? 37 fraq a3 gl fra 31 & g 34 frae oi@ gl o=l & R &4 it o= 38 @ 4 a2 379 91al &1 warg 4 aran
PIS TE AT 7 ST B WR & HT-PTS A G 1 3R 7 919 o 1 vgA-Fram A1 G = 3o € F HaTa-ware % oA fed #Y aweeh @ fear wwa A

IR T BT UGHR 1 T T YR FT I« qa13¢|

U A & W FI-T & SHu FRIfEar 3« far ure

1. Mafew 3

2. fagtfau A

3. 3fS fRm ¥

4. IUER feu &

Correct Answer :-

. S fRu )

12) FRA S W BT & HUR P ST 7 32 3T &1 H21a iR IS 781 11 1 98 o= | FafSar &1 a8t Sma-na 3 F3a | WaR A1 S Wad Sii-19 &
TR UgT W SR et ok fifean gt o) 95T So1 Ui | St S § Sl s 1 AierH Fan we i, gy 3R st @Y of gy T et gl & e # wReave
F FaTd Iod | MRS HAT FIN2 34 fraa a3 2l i 1 & gl 37w e o g1 a=f & R 9 Fiwpdi)? o= 9l @ H Awail? 37 a1l o1 ware 37 aren
PIg TEE AT 7 ST BT TR P HTH-HI A Fid At 3R 7 919 it B g A1 S = S €t & Tarer-—oia1d &b 310 foet oY aaecdt & feur w=a A1

IR TR BT UGB 1 TR T YA FT I« qa1s¢!

URH: BT BT I61 BT T ATH UT?

1. IRl

2. g1

3. 94T

4. 3HT

Correct Answer :-

13) HIE S W P16 S SR @ AFA A S R & HTG R IS T8 WA AT 92 o1 A Ffgar o) 987 M-S @1 Ha | ga¥ 1 3 Aerd pifa &
A U A SR RreT o Rifgar 3 &1 981 a1 Ut | 39! 3T § S S H1 A HIeH F1 WA firerar, g 3R sadt &Y oY o 1 gl | g & e H avs-ave



& AT 3 d | TRAAT AT g2 33 framt a9 g1 | 31 & i 3738 favaa oS 812 o=l & IR HA Fipdi? 9 88 A $& Add 12 $79 91l &1 Sa1d 37 arar
PIg TG AT 7 SHT B TR P HTH-HI J Fd At 3R 7 19 ot B ygA-fore A1 S 7= M €t F TaTel-—sia1e B3 30 foed &Y aweedt & feur w=a A1

UG TR B TSR 1R TR T IR BT SR TS
W Hd 3R T YaE I €l bel o A2

1. B & I

2. THIADR TRl

3.89dW

4. TPAR

Correct Answer :-

. BT & A

14) HIE S W PG P SR TP AGAT 7 IS T & F2@ oY U 981 01 g1 99 A 4 FRIfSar 1 aet SMd-SId I H3et | AR Q1 i 7erd i+ &
T UgT W 3R FRret 3R Rifan S o1 a5t doT1 urd | 3@ 3@ & S a=af o1 A ATy o W e, gy oiR sradt 351 ot g 7 et S F fiw § aRe-aRe
F AT Iod | TRIAT ST EHN? 313 frawt 92 812 v 1 & g1 3% fbed oi g1 o=l & R 4 Fwpd ™ 7= oi | HA Mea? 39 916l &1 Ware 3 arar
P15 TEY AT 7 ST B} IR & HTH-HI A Gid At 3R 71 719 it B g 1 S o= S € & Tarer—orard a3 3ru fae o aaeedt & fear w=a A1

IR TR BT UGHR A IR T U= FT I« qa15¢|

UH: S feae gaigarh 82

1. X[ BT

2. 35 P

3. W H

4. SRS

Correct Answer :-

15) PTG & IR BIH b SHUR P ST 37 2T A1 H21a iR IS 781 11 1 98 o A FafSar &1 a8t ma-sna 3 w3a | e A1 S Wad Sii-19 &
T UgT W SR T ok fifean g ot 96T So1 Ui | 3! S A Sl S 1 |ierH Fan we fierar, gy ok st @Y o gy T e g & R # wReave
% I S5 | TIRIAT ST EI? 31 fra 3 812 v 31 & g1 3% fbeA oi g1 o=l & R 4 fRpa? o= oS | $4 Mwai? 39 16l &1 Ware & arar
PIg -TET AT 7 SHT BT TR P BTH-HI A Fid At 3R 7 19 ot B g A1 S = S €t F Tarer-—sia1e a3 30 faed oY aweedt & feur +=a A1

IR TR BT UGB 1 TR T YA FT I« qa13¢

UA: qaTe-SaTe’ § B A1 HEE 37

1. 48 A

2. SrAIYTa JE™

3. IgeY THNY

4, Sgoe IE™

Correct Answer :-

16) T T18 I9 99, W9 18 T4 94|
A gafe e, g wa s

e ot 1fd, fag it e g
U 7T A ey, Wi, A, 49 0

Ia UL B UG Y YD WH 9Td U BT I« ga1s¢|
;e <reg w1 d B2

1. e &

2. YA &1 Tl AT

3. RS wem|

4. M &1 76 SR &



Correct Answer :-

. R o

17) & I18 99 99, W9 91é q9q 94|
IRH qafe HfE), T o erami

Ia i AR, fog urit e |
Ot T A SR, H, A, T4

IR TR B UgHR 12 U W19 9Ta U= HT I« qarst|
e qefe &1 ad A g

1. 9%

2.9

3.9

4. 1A

Correct Answer :-

18) T& T1d Ia 9, We I1d aa 94|
IRT qafe HfE), T o erami

Ia i AR, g urit |e g
Tt T A SR, H, A7, 77

ITIF U B UgHR 12 U W11 9Ta U= HT I« qa1st|
U “Ee HT qataar w1 e 32

1. gAd

2. PgH

3. fagm

4.qY

Correct Answer :-

19) T& I18 I9 9, e 18 T4 94|
IRwH gafe ke, v wa srami

e urt e, g ot 5w g
T 1T S e, HR, A, T4

ITYF TR B UgHR 12 TS WA 9Td U= $T I« qa1st|
U T Ul | @2

1. IR

2. qIgl

3. 890

4, AU

Correct Answer :-

20) U A1 9 Y, W 18 T 94|
IRwT gafE @ifE, a wa s

e ot Afd, faeg urt wre g
i T A SR, W, A, g9



IUYF UL DI UgH -4 IB T aTat Y9 $T S« ga1z¢|

W YR Uit e g IR @2
1.3e™

2. TGS

3. AHEr

4, PRGN

Correct Answer :-

21) U 19 99 I, 99 18 T4 94|
IReH qafe HfE), T wa erami

e Ut Ty, g ot we g
T T A e, Hel, WY, T4

I TR B UgHR 12 U S1F 9Ta U= $T I« qa1st|
T Ut B wafgardh w2

1. %d

2.7R

3. AN

4, A

Correct Answer :-

22) T 19 99 I, 99 918 T4 94|
IRH qafe HfE), T o erami

Ia i AR, fog urit e g
Ot T A SR, H, A, T4

IR TR B UgHR 12 U W19 9Ta U= $T I« qa1st|
o FE § @ - Al &1 gataard 7@ @2

1. ggar

2. TR

3. gadl

4. Mg

Correct Answer :-

23) T 19 9a 99, 99 918 99 S|
IRw gafE @iE), d wa s

e urt T, g urit we g
T T A SHa, Hiel, A, T4

ITYF TR B UgHR 12 TS W1F aTd U= $T I« qa1st|
e R urht e g uiea § ureh @1 e @2

1. ufasT g

2. UHIGRE

3. O e g

4, T Y



Correct Answer :-

. gfagrd

24) T 19 99 I, 99 18 T4 94|

IRH qafe HfE), T o erami

Ia i AR, g urit e g
Ot T A SR, H, A, T4

IR TR B UgHR 12 U W19 9Ta U= HT I« qarst|
W: T 1 T T, 9 WY 9 99 § B A1 SEPR 82

1. 9H®b

2. aepifad

3. 3UHT

4. 3UTH

Correct Answer :-

25) T 19 99 I, 99 918 q9 94|

IRT qafe HfE), T o erami

Ia i AR, g urit |e g
Tt T A SR, H, A7, 77

ITIF U B UgHR 12 U W11 9Ta U= HT I« qa1st|
o IR e e, g ol we g e § @ @ e 22
1.y

2. 995

3. 3U™

4. IO

Correct Answer :-

26) T A1 e I, 99 18 T4 94|

IRw gafE @ikE, d wa s

fewe urht aife, fag it e )
T 1T S e, HR, A, T4

I TR B UgHR 12 U S1F 9Ta U= $T I« qa1st|
W 3T g R A A g

1. fae=h

2. d&H

3. d&d

4. T

Correct Answer :-

27) U A1 9 I, 9 18 T4 94|
IRwT gafE @ifE), a wa s

e ot Afd, faeg urt wre g
i T A SR, W, A, g9



IUYF UL DI UgH -4 IB T aTat Y9 $T S« ga1z¢|
H: TP T T 9, T WD 79 A U 1 wrard @2

1. IR BT U 1Y FH3A AR

2. BT P A Toi Afeq

3. T% 9ad | U@ 81 $T HA1 A1

4. @18 W B 7Y e fRw

Correct Answer :-

. TP 9ad H U &1 B BT AUl

28) U U1 We T, W 18 qa 94|
IReH qafe HfE), T wa erami

e Ut Ty, g ot we g
T T A e, Hel, WY, T4

I TR B UgHR 12 U S1F 9Ta U= $T I« qa1st|
WA u <eg F B A1 R §2

1. gfea

2. ST

3. TR I PR T

4. GG fef

Correct Answer :-

29) T 19 99 I, 99 18 T4 94|
IRH qafe HfE), T o erami

Ia i AR, fog urit e g
Ot T A SR, H, A, T4

IR TR B UgHR 12 U W19 9Ta U= $T I« qa1st|
ue: A v P A SR
1. gfea

30) T 919 99 Y, T 919 99 S|
IRw gafE @iE), d wa s

e urt T, g urit we g
T T A SHa, Hiel, A, T4

ITYF TR B UgHR 12 TS W1F aTd U= $T I« qa1st|
wA: IE o AR ufdd & o o ord wm @2

1. U HRPR XA

2.9 9

3.99% 4

4. 099



Correct Answer :-

. TAH Y

Topic:- General Sanskrit(L2GS)

1)

Yol afScar renfAfisery weaed g I -
IR I EAT o  faed e daard |
Feufa: 3 gdieET garefiar e feufa: ||
PUT ToR TadTedTel; Thed el (A ddaTelTel, |
oo o

BN IS f@crdi-ldiﬂclm: p=<1ps) dAUi dgm'l-a o TS

3rEaT: fEerfa: 3rern: safa |

3T

Correct Answer :-



Y HHANHFHIEY &dl oh: ?

sTgta:
1. o



TRTIE ITScdT TRATT AN AT -

31a Ufted: eliehashisihd: foaler: fAUser: tae: HHga-Ed, UscUid-
T T 3UN add | AW TSTRII-UTHGAT Siel= 9y arad |
STRAET  Tseud:, AUl oAl I ¥Fa¥g-tdell: §dfed| o €ae:
Uffcaeaalad g auel Qoseedl TReET: eae: @adsal  eaols:
3delcar safassd| UMCTEARGEE Fddlsdl  USE-Laoled  Seclofel
ifeiard| veh: HRET TRW: FH el &MU Thodd ffcdl 3 3
TeIld |

SFAANAY T FENRAAT scal Tod| hogIIATATT FRITAY heald-FAfeor
fAaTETaY 9 FHAAE 3T RN TERd|

ad AR 3T UEIEaoRT TFA Fafod | TANGREAY  degaT
MTAAGAH, TAAdAANGIH T ofedl: SH €aoiH 3cUT TSCET AIST I
Fafed]

Ife FEafed AFTgeNEd e #afd qEy e ae Rdiay W AE
frf>ad 3adagd | TadAaGad PETANTT Usde Il HRaEd
TIAHAT  IFAGET  (STellfoheln) AR 38 Usgedst ufday  fadeifd,
Ul o el yoHAfed oo $AA| fereaey el vateeads
fafsca dR: dffe: a7 BT Usgeged 3RUAdl 9Eda: 3T eae:
AT Eadead¥die:, Siidd dMied| 3Hd: IEANA: YOUoAT 338
HFATTET HAGT 8T el

‘3T T AT dadardelsiEd -



<

4.

Correct Answer :-




8)

eellent gfScar srenfafésery yeaear qgdaccl Faad -
IR I AT & o T T |
Feafd: 3= gl garefier rer feufd: ||
UL TR RIATeTaTeT: S RepTdehieiHITeTTeT:, |

BN IS f@crdi-ldiﬂcnoi: p=<1ps) dAUi aj_,mfa o SRl

hacidcadsadsT Tdd o Ued|

vollenl afScdr refAfsery Teae Yedccl AT -

9)

T2l O FATACT dcled Tdoledd: |
AT TEEAATA Tclod T AT ||
god Tcoiel TEIE,_facaamnfa anfd = |
37&foM fdecd: &fiom gedaed &l g ||

Feolel Tcld A&Td |



10 Hﬂﬁaﬁg ﬁan—edgr &: faweu: 37G: ?
3THTET:

1.

5 rﬂﬂlﬁ]ﬂ%:

, ArUTTa:

Correct Answer :-

UGB CE

11) .
voliehl afScar srefAfésesa weaed YgHccl AT -
JAT I FAITAC dcfod Tdoledd: |
T TEEAHATA dclocd Ha AT ||
Jed TooteT TIAIG, Aead Tt A1fd = |
37&fom fdedd: & gedaed &l gd: ||
T A ofhl: ATed |
CE]
1. -~
Rty
, AT
T
4, =~

Correct Answer :-

_fafafas

-



? oot ufser srenfafiser T e gaad -

J2IT I FATAT dcled Tdoledd: |
AT IEEAATAT Tded T AT ||
gedl Tcelol H&TE, [deaamria A = |
37&foT fdecrd: & gedaed &l ad: ||

HaTHAT: 3 AT |
Jezo

1. -0

STASTEH,

2.



TRTIE ISl TRATT AL I -

AR ¥ & AEIYR: HIol Fl WS Tdleqlsil AVAT #7ed Uw
IRl 3T SfeH TSIUCUTT  Foleheed] HGEIAT SIS AR
2 aH ¥ AAEET gwdd G eadl 3y fUar A ggee
cdegallyl BN Il &ed TG {deadd AT 3-AY: 38Tad| |
AT hiadl TWIUAM| tcoy dd ¥ @ CaRdr sfd g
TFICATIHAET SR AN J&T 38 Hee@sid: el ITTRIETTs
STIUS GeITGd| SIeivseeian daa: Aoy I [ S daT AT
A UG el o dfehar: Jeae] UM iegare: FEaer
ufdfiged:1 t¢¢3 dd a¥ Fullickicedr He 33ET  fdamw:  3#ad|
AR AefAhgeusard  SeAdd @ U SRR
HHATABTIG TS WT‘F’B]FJ eMedicdchdsl a#FHeh ool HGAGATd
Tafidare| 3 Facfiaaanr scafy gear geanfuan st fageiamen
ﬁtgqm ERUT TEET:  Ifdeifel’  Shlca{ddT: 31idcﬂaﬁ|h||q|aold|qﬂ
HARAA| T T [T dFcar: ‘30sar Aasdr Anearn: GEART: YR
| TATT YEdhed bRl dlog: faeafas(d: 3e1ad| 36T #Hglha:
UATEH=, Gcieh JMeAfcHhiauar= dag: el e:e3 af a¥ e
MdsifadRcde, favafaeard ‘Aide’ EhRA T 3elerd |

TAET JEANREd JhTeldded dleg: ﬁfa?aga:
3eTad-



AT
o BN |

4.

Correct Answer :-

eolienl afScar rNfAfSser Teae PgHcc I -

IR I ST o J faed e daand |
Eufa: 3= qaigET garefiar srer: [t ||

e foI A dTeldTel: s RepTIeh[AHTeTeT, |

TaTToTor mcrd{-ldj\ﬂdldi n=ips) dAUi agmfa & qeAUS: |

UY: el €907 o H>dfd |



eellnt afscar srenfafdscry weaea Agdaca gaIad -
JAT IR FAIHT dclod Toled: |
dUT IEEAATAT Tcded T ITPHAT: ||

Jed ool IAIG, [Sed AT I o |
3TENOT Faed e &flon Fedawd &dr & ||

vad feeafa smeafd T |



TRTIE ISl TRATT AL I -

AR ¥ & AEIYR: HIol Fl WS Tdleqlsil AVAT #7ed Uw
IRl 3T SfeH TSIUCUTT  Foleheed] HGEIAT SIS AR
2 aH ¥ AAEET gwdd G eadl 3y fUar A ggee
cdegallyl BN Il &ed TG {deadd AT 3-AY: 38Tad| |
AT hiadl TWIUAM| tcoy dd ¥ @ CaRdr sfd g
TFICATIHAET SR AN J&T 38 Hee@sid: el ITTRIETTs
STIUS GeITGd| SIeivseeian daa: Aoy I [ S daT AT
A UG el o dfehar: Jeae] UM iegare: FEaer
ufdfiged:1 t¢¢3 dd a¥ Fullickicedr He 33ET  fdamw:  3#ad|
AR AefAhgeusard  SeAdd @ U SRR
HHATABTIG TS WT‘F’B]FJ eMedicdchdsl a#FHeh ool HGAGATd
Tafidare| 3 Facfiaaanr scafy gear geanfuan st fageiamen
ﬁtgqm ERUT TEET:  Ifdeifel’  Shlca{ddT: 31idcﬂaﬁ|h||q|aold|qﬂ
HARAA| T T [T dFcar: ‘30sar Aasdr Anearn: GEART: YR
| TATT YEdhed bRl dlog: faeafas(d: 3e1ad| 36T #Hglha:
UATEH=, Gcieh JMeAfcHhiauar= dag: el e:e3 af a¥ e
MdsifadRcde, favafaeard ‘Aide’ EhRA T 3elerd |

ey fasheuy wehr Ideged Hid: 3Red-

4.

Correct Answer :-






volienl afScar rafAfésery e YeHccl YA -

JT A FAITACT dcfed Holodd: |
2T IEEAATH Tcfocd TG ITHAT: ||
Jod TooleT TIEIG, Aca AT I 7 |
37&fon faccd: &fio geaded &dt g ||

T AT @d Safedl



URTSE ISl TRATT AgHcN AT -

31a Ufted: 3nliehashisihd: falel: fAUser: tae: HHGA-Ed, UscUid-
T T 3UN add | AW TSTRII-UTHGAT Siel= 9y arad |
STRAET  Tseud:, AUl oAl I ¥Fa¥g-tdell: §dfed| o €ae:
Uffcaeaalad g auel Qoseedl TReET: eae: @adsal  eaols:
3delcar safassd| UMCTEARGEE Fddlsdl  USE-Laoled  Seclofel
JfAar wh: ®RT qoW: 7 el SfEUT Thedd gcar 3T A
TeIld |

SFAANAY T FENRAAT scal Tod| hogIIATATT FRITAY heald-FAfeor
fAaTEeaaY o FHAATE 3T JHRRN TERIfd|

ad AR 3T UEIEaoRT TFA Fafod | TANGREAY  degaT
MTAAGAH, TAAdAANGIH T ofedl: SH €aoiH 3cUT TSCET AIST I
Fafed]

Ife FEafed AFTgeNEd e #afd qEy e ae Rdiay W AE
frf>ad 3adFgd | Tad-adGad ETANTI Usde eIl HRaEd
TIAHAT  IFAGET  (STellfoheln) AR 38 Usgedst ufday  fadeifd,
Uftcgeliasd @ @l yoHAfed oo $AA| feAeaey e vateeds
fafsca dR: dffe: a7 BT Usgeged 3RUAdl 9Eda: 3T eae:
AT Eadead¥die:, Siidd dMied| 3Hd: IEANA: YOUoAT 338
HFATTET HAGT 8T el

U Uogedoled HFA Sdfod -



q{chIaT:

4.

Correct Answer :-

UR=te Ufdcar UeaEd g&qagcdi A -

3T AT 3ehawsiad: AOte: O «aon: dagaasy, Usgufa-
HGTET T 3UR QI | 3EAY TSTRRI-TIAET Serrer @iy arid |
SIRAET  TSeUd:, oAUl Aol O ¥EgEg-tdell: &dfed| o €ae:
UfScaeaeld g d#usl Aodeed!l T eado: TasAT  eaoled:
3edecar safassd| UMCIEARNGEE FAdlsdl  USC-Laoled Secilofel
JfAarT| v HRad YW SH gl Rl Thetd ¢cal A A
Tl |

ST o FeAIAT ocaT ol | healIRMHAEd hRATeAY g1 g-Afe 0T
AT T AT 3T 37T TEPR |

ad E%RT-ﬁ?JT I UTEILAST T GHA Pdfocd | TANGIRTHY  degen
AUIAAIGad, TadeAdIGad T Sell: SH CaolH 3o USCET STAAIIA
Fafed]

afe e ARTesEd fAue #afd dey eash: e edearaey @FaE
frf>ad Aaesad | TEdeAdIead IPTEIANRT TaedIaal HRaed
VTl {FAgIed  (ellefifchell) WdR 3 Tsgedsl Uiday  fadeifd,
IeTefide T Al IvAfed Siar: SAA| feATerey fRIEX vaieeAs s
fafscr I qafde: 7 BT Tsgeasd 3RUad) I dd: 39 oo
3ITATh TadeAdMdI:, Siidsd dMed| 37d: 3IEAMN: YUMo 38T
HFATAET HAcT 8T el

fSea: 37eiehashisiohd: ---—--- eqoT: 3T -






TRTIE ISl TRATT AGHAR I -

ARG ¥ & AEIYR: HIl FI TSI Tdleqlsil AWAT #7ed Uw
IRl 3T SfeH TSIUCUTT  Foleheed] HGEIAT SIS AR
tegr aH ¥ AAEET gwdd G eadl 3y fUar A ggee
cdegallyl BE: M| &ed TG {dleadd YA 3-AY: 38Tad| |
AT hiadl TWAAM| tcoy dd ¥ @ CaRdr sfd g
TFICATIHARET SRl AN F&T 3 Hee@sid: el ITTRIETms
STIUS GeITGd| SIeivseeian dad: ey I [ S daT AT
A UG el o dfehar: Jeae] UM iegare: FEaer
ufdfiged:1 t¢¢3 dd a¥ Fulickicedr He 33ET  fdamw:  3H#ad|
AR defAhgeusard  SeAEdd @ U SRR
HHATABTIG TS WT‘F’B]FJ eMedicdchdsl a#FHeh ool  HGAGATd
Tafidare| 3 Fagfiaanr scafy gear geanfuan st e
ﬁtgqm ERUT TEET:  Ifdeifel  ShlcI{daT: 31idcﬂaﬁ|h||q|aold|qﬂ
HARAA| T T [T dFcar: ‘30sar Aasdr Anwar: GEART: YR
Tl TATT YEdhed TRl dlog: faeafas(d: 3e1ad| 36T #Hglha:
UATEH=, Gcieh JMeAicHhiauar= dag: el e:e3 af a¥ e
MdsifapRcde, favafaeard ‘Aide’ EhRA T 3elerd |

faeafasa: scoey faugaraeas Ug s1afd-

ICEGIE] ﬁ"g?[

1.

N IGLEER %ﬂaz
, P R
. faegeat %@H:

Correct Answer :-



Yellent gfScar renfAfésery geaey Agdacar Faad -

IRE T g A T faede g T9ad |
fEufa: 3= gaieET gatef= srer: feufa: ||

UL o dTerdTel: shic] RehTUehiaHdeTaTer:, |

aaTToTal mcl'd{-ld-lc\ddldi n=1ps) dAUi d_-:l’a-tlrl-a o el

YOSt alel: 311eAe fAaaasf Tqaqor &1 #=afd |




URTSE ISl TRATT AgHcN AT -

31a Ufted: 3nliehashisihd: falel: fAUser: tae: HHGA-Ed, UscUid-
T T 3UN add | AW TSTRII-UTHGAT Siel= 9y arad |
STRAET  Tseud:, AUl oAl I ¥Fa¥g-tdell: §dfed| o €ae:
Uffcaeaalad g auel Qoseedl TReET: eae: @adsal  eaols:
3delcar safassd| UMCTEARGEE Fddlsdl  USE-Laoled  Seclofel
JfAar wh: ®RT qoW: 7 el SfEUT Thedd gcar 3T A
TeIld |

SFAANAY T FENRAAT scal Tod| hogIIATATT FRITAY heald-FAfeor
fAaTEeaaY o FHAATE 3T JHRRN TERIfd|

ad AR 3T UEIEaoRT TFA Fafod | TANGREAY  degaT
MTAAGAH, TAAdAANGIH T ofedl: SH €aoiH 3cUT TSCET AIST I
Fafed]

Ife FEafed AFTgeNEd e #afd qEy e ae Rdiay W AE
frf>ad 3adFgd | Tad-adGad ETANTI Usde eIl HRaEd
TIAHAT  IFAGET  (STellfoheln) AR 38 Usgedst ufday  fadeifd,
Uftcgeliasd @ @l yoHAfed oo $AA| feAeaey e vateeds
fafsca dR: dffe: a7 BT Usgeged 3RUAdl 9Eda: 3T eae:
AT Eadead¥die:, Siidd dMied| 3Hd: IEANA: YOUoAT 338
HFATTET HAGT 8T el

egedeT: Jcgeaals 98 37 fausied-

| GieoTaey
§ arager

ey

3.



JcaRast

4.

Correct Answer :-

27) .
eellent afScar srenfafdsery weaea AgdAcaR FaIad -

I AT STl o1 faeeed Jedid |
Feufd: 3= TaierET garedi=r are: feufd: ||
UL I dTeldTel: shic] NehIeh{AHaatalTer:, |

IS ICH mclfd{-ld-lc\oidloii n=ciEs) dAUI a_-;svu'i-a o TeATUS: |

MSIMSTTH’ 3T TdAgarergH Ud Hald|

REIECINC CE:

ISIMRAT: STl

2.
| IS el
) arstfa: ool

Correct Answer :-

ISIRAT: el



URTSE ISl TRATT AgHcN AT -

31a Ufted: 3nliehashisihd: falel: fAUser: tae: HHGA-Ed, UscUid-
T T 3UN add | AW TSTRII-UTHGAT Siel= 9y arad |
STRAET  Tseud:, AUl oAl I ¥Fa¥g-tdell: §dfed| o €ae:
Uffcaeaalad g auel Qoseedl TReET: eae: @adsal  eaols:
3delcar safassd| UMCTEARGEE Fddlsdl  USE-Laoled  Seclofel
JfAar wh: ®RT qoW: 7 el SfEUT Thedd gcar 3T A
TeIld |

SFAANAY T FENRAAT scal Tod| hogIIATATT FRITAY heald-FAfeor
fAaTEeaaY o FHAATE 3T JHRRN TERIfd|

ad AR 3T UEIEaoRT TFA Fafod | TANGREAY  degaT
MTAAGAH, TAAdAANGIH T ofedl: SH €aoiH 3cUT TSCET AIST I
Fafed]

Ife FEafed AFTgeNEd e #afd qEy e ae Rdiay W AE
frf>ad 3adFgd | Tad-adGad ETANTI Usde eIl HRaEd
TIAHAT  IFAGET  (STellfoheln) AR 38 Usgedst ufday  fadeifd,
Uftcgeliasd @ @l yoHAfed oo $AA| feAeaey e vateeds
fafsca dR: dffe: a7 BT Usgeged 3RUAdl 9Eda: 3T eae:
AT Eadead¥die:, Siidd dMied| 3Hd: IEANA: YOUoAT 338
HFATTET HAGT 8T el

“ Icdieldlr AT AT -



Correct Answer :-

29)

URTIC ISl TRATT AGHN A -

ARd T & AR Pl Flel FAeIdd, Idoqisid dAWHT ALY T
IRl 3T SfoH TSIICUTT  Foleheed] HGEIAT "SAISTR AR
2y dH a¥ AFEEET ddd G eadl 3y Tar #EfY ueHs
cdegeTrel BRI Ml ded Uq {Eeaed YA 3-AY: 36fEdl |
HAGT hiddl TWAAME| oy dd g @ CeRdr sfd  ofFenRm
GFUTGATIARET R FARHAT| T Al Fedcasia: der ITafAsiTersg
STUS CRFFTTO| SIeUSCeAT: dad: ey I MAS: o daT IEF
HIIAH  3H0aa, TaT o dfehar: 377ae]| RIGTelecl Tiogarel: Faqel
ufdfiged:1 t¢¢3 dd ¥ Funfesicedr dg 33¥g  fdamw:  3#Had|
AT dSfehgewsiiard, SeA@dd @ RN SRR
K IR TAG] Wﬂw Mediddhded #AFHs Aol Agidcared
TATAAAEA| 3o FaefiaaaAeT scafd aeer gearan &t ageiamEr
ﬁw TEALOT TGEAT:  INdAT  HIITAART: &idﬂﬁlqluldﬁgdlaﬂx
R & T TGAT JIca: ST0sar AAser Anwan: e YT
Tl TATT YEAhEd TR {dlog: faeafasid: 3msiad| 36T #Hgloha:

TAREAA, qededh IMEATcAR AT Tae: 3fed| ¢:e3 df a¥ e
MdrsifpRcde, farafaeard Hide qEhRA, T 3elerd |

ReRe Foudey sl Aeaey 37e: 3ARET-



Correct Answer :-

30)

URTIC ITScdT TRATT AGHN I -

ARd T & AR Pl Flel FHAeIdel, Idloqisid dAWHT ALY T
IRl 3T SfoH TSIICUTT  Foleheed] HGEIAT "SAISTR AR
ey dH a¥ AFEEET ddd G eadl 3y Tar #EfY geHs
gdegeTel BRI Ml ded Ud {Eleadd YA 3-AY: 36Edl |
HAGT hiddl TWAAME| oy dd g @ CeRdr 3fd ofFenRm
GFUGATIARET R FARHAT| T El Fedcasia: der ITafAsiTersig
STUS CRFFTTO| SIUSCYAT: ®ad: ey I UAS: o daT T
HIIAH  3H0aa, TaT o dfehar: 377ae]| RIGTelecl Tiogarel: Faqel
ufdfiged:1 t¢¢3 dd ¥ Funfesicedr dg 33¥g fdamw:  3#Had|
AT dSfehgewsiiard, 3SeA@dd @ RN SRR
K IR TAG] Wﬂw Mediddhded #AFHs Ao HAgidcared
TATAAATA| 3T FaefiaaaAeT scafd aeer gearan &t ageiamEr
ﬁw TEALOT TGEAT:  INdAT  HIITAART: &idﬂﬁlqluldﬁgdlaﬂx
R & T TGAT JIca: ST0sarT AAser AFwan: e YR
JETACA| TATT YEdhEd TohRAeT {dlog: faeafasid: 3msiad| 36T #Hgioha:

TARPAA qededh IMEATCARAYAET Tae: 3fed| ¢:e3 df a¥ e
MdrsifpRcde, farafaeard ‘Hide qEhRA T 3eleid |

Wleg: ugé%‘r g8 U9 37EAT: UTIREAT: GFUGATIHET hrd THRAC-



TFATYUTHoC2T:
4,

Correct Answer :-

Topic:- Mathematics (MAT)

1) Write the cubic polynomial whose sum of zeros, sum of product of its zeros taken two at a time and product of zeroes respectively are 4, 1, and
-6:/

g U1 IgUG T, ORI Yh! H1 O, ISP I $I & UFHH BT AN TP IR F & fRram a1 iR Y- B BT UK HAR: 4, 1 3R -6 8:

l.xa +4x?+x—6

5 %3 —dx? +x+¢

3'x3 +4x?+x+6

4 ¥ —4xT+x—6

Correct Answer :-

2) If a > 0 and b < 0, then the point P(a,b) lies in: /
gfda>0Tdb < 08, A &g P(a,b) AT E:

1. 2" quadrant / Tt agufe

2. 4th quadrant / I Tquf
3. 3" quadrant / it Tqufy
4. 15t quadrant / GYH aﬂ?ﬁ?ﬂ
Correct Answer :-

« 4th quadrant / EGUEERUIR

3) A figure on a graph sheet covers 10 fully filled squares, 8 half-filled squares, 3 more than half filled squares and 6 less than half-filled squares.
Find the total area. /

TP U e W TP 3ATHST 10 T B YUl & |, 8 T 1 3, 3 a0 &Y 1Y T 3Afe 3R 6 it &Y 31 F B WIAT § | $o &ABA i DI}

152 squnits / 152 3%t gwré
1. < <

2. 21 sq units /21 aﬁswlé
3. 23 sq units / 23 T ST
4. 17 sq units / 17T:|T1:$$I'§F

Correct Answer :-

e 17 squnits/ 17 a”'f%l'%f

4) If the CSA of a solid right circular cylinder of height ‘h’ and radius ‘r’ is one-third of its total surface area, then the correct formula is: /

Tfe v SATE TUT v P a9 U SN @ axfat S B1 996 THT @ d 39 $o I8N %A $T UH-RIETs ], A s il g 8:

1
h=—-r
3



h=-r
2.

3.2h=r

4. h=2r

Correct Answer :-
e 2h=r

5) Four equal rectangles with length ‘a’ and breadth b’ are joined to form a bigger rectangle. Denote the area of bigger rectangle as x. /
TS ‘a’ 3T IS 'b'aTe IR A Al B Th I81 ATd 991 P g femar 91 21 x & U # 98 319d F 896 d &) uiy|

LX= 4ab

2. ab = 4x

3 x=4a+4b

4.x=4+ab

Correct Answer :-

. x = 4ab

6) What are the additive identity, additive inverse and multiplicative identity of -1? /
-1 % G TTH, TRTTATh Ui 3R OIS ToqHe T 82

1.0,1,1

2.0,1,-1

3.0,-1,-1

4.0,-1,1

Correct Answer :-

7) What is the predecessor of 218010? /
218010 @ dad W et 82

1. 228010

2.218011

3. 218009

4. 218000

Correct Answer :-

e 218009

8) Which property can be used to solve this problem? Find the solution. /

T U4 B 594 P & e 5 o1 #1 I fran o wwan 82 g9 91a
98654.7x726+ 98654.7x274 =?

1. Associative; 98654700 / TTE TUT; 98654700

2. Both associative and commutative; 98654700 / TTgad Td sH-fafa 1o G ; 98654700

3. Distributive; 98654700 / fqaRoT&E® TOT; 98654700

4. Commutative; 986547000 / SH-faf8a 701; 986547000



Correct Answer :-

- Distributive; 98654700 / fdaRuTeHe 70T, 98654700

9) A triangle and a parallelogram are on the same base and between the same parallels. The ratio of the area of triangle and parallelogram is
i

e Ry 9 IR Ige T YR TR YT U SR @reil & 9 Ra ¥ yg aur s agde S dawa sregua R
1.1:3
2.1:2
3.2:3
4.3:4

Correct Answer :-

10)  Foran equilateral APQR, the vertices Q and R are (-3.0) and (3.0) respectively, then the 3rd

vertex P is: /

UF §AAg APQRF AT ofif Qud RFAW (-3.0)Td (3.0) ¥, a iR ofnd P&

(03+3)

1.

§ (0943)

3.(0,3)
4. (0,4)

Correct Answer :-

(03+3)

11) [£¥ is the mean of 11 observations Xjs MoKy  cwmmseed X,,. then Z?zl[xi —X)= o
afe n AT Xy, Xp, X5, e X FTART X B, AT X, (x; —X)= I

L1

2. "

3.1

4.0

Correct Answer :-

12) The polvgon having interior angles 117° ,63° 52° |128° is:/

117 ,63°,52°,128° 3Rk oTarTel SEa &

1. Concave / 3{ddd

2. Regular / 9H



3. Convex / 31
4. Convex and Regular / 3T¢l dRTH

Correct Answer :-

« Convex / 3Td

In AABC, D and E are points on AB and AC respectively such that DE|IBC, AD = x, DB=x — 2,
AE= x+2,andEC=x— 1, thenx=__ .\

AABC #, AB3IRACT F#r D 3IRE fdg 59 vaR § & DE|IBC. AD = x, DB=x — 2.
AE=x 42, g EC=x—18.dlx=__ |

2.3
3.0

4.4

Correct Answer :-

14) (Qpe angle of a decagonis 90° and all the remaining nine angles are equal. Then the measure of

the other angles is: /

U 2MES H TF o7 90°3HK A Tt A T sy €, ar s ol i A

115°
4.

Correct Answer :-
150°

15)  1n APQR. PQ=3 cm. QR=4 cm then which of the following is not the side of a triangle : /

APQR #, PQ=3 ¥F.QR=4 & §. o s=faf@a # & wlash Bepa &1 sr ad1 &

1.7 cm /7 St
2.3cm/3 &t
3.2cm/2 S
4.5cm/5 S

Correct Answer :-

e« 7cm/7 It

16) If atb=2ab then the value of 1 =+ %is:
a

Ifg atb=2ab &, dr l+%ah‘r AT &
a



BN

2.
3.2

4.4

Correct Answer :-

17)  Given AABC~ADEF and AABC2AFDE then which of the following is not true? /
AABC2ADEF 3R AABC2AFDE fEam o7 &, ot To=faf@ag & & sia-ar T8y g1 872

1. CB=EF

2. BC=FE

3. AB=DF

4. AC=FD

Correct Answer :-

« AB=DF

18)  Find who spends second least on fencing from the given table.

Name Shape of land Length of one side
Abhi Equilateral triangle 30m
Sanal square T0m
Mohan Regular pentagon 60m
Suresh Regular hexagon 3I0m

& M e I A9 B fF T35 A W GHET G A
I FiT AT 87

A HF FT HR TEh AT T FAdE
far aarg e 50 Hrex
SEC] ait 70 #rex
Hgel A a=Ee 60 #Hex
gyar TH wess 30 Hrex
1. Abhi / 3y
2. Suresh / R
3. Mohan / /g9
4, Sanal / 94

Correct Answer :-

+ Suresh /=

19) Inatriangle PQR, 2P=59°, 2Q=60" and #R=61" . The largest side of the triangle is: /
uF PR PQR &, £P=59°, £Q=60° 3{R £R=61° & Teget il WY 931 &1 &

1 £P

LR
2.



3. PQ

4. QR

Correct Answer :-
. PQ

20) Find the 3rd zero of the polynomial x*+7x2-2x-14 | if two of its zeroes are —/Z andv2/

95U xM+7x2-2x-14 & AR YAF A F, AR $EF A Yedd V2 a2 gl
1.7
2.3
3.5

4.7

Correct Answer :-

. 7
21) 1, . . qrr . g
If x= -3 _v=—is the solution of the equation -2x+5v=k then the value of k" is:, /
=1
. 1 .
e x=-3Td y= THERUT -2x+5v=k & §el &, dl ‘k’ &l AT &
1.-7
2.-5
3.7
4.5

Correct Answer :-

22) Choose the digits from the options to fill the blank space of the following number so that the number formed is not divisible by 3:

__9745/
fFrafafa W & Rad WM 1 WA & o Al & 9 siw! &1 9a9 o8 e 1% 94 arelt w@n 3 3 fauca T 8
___9745

1.986
2.875
3.768
4.392

Correct Answer :-

¢ 768

23) Choose a set of like terms from 9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b. /
9a2b, 4ab, 4a, 5ba2, 7b2a, 9b, 3ab, 4b T WL US| & TH TY=YT BT 99 B |
1. 9a2b, 5ba2

2. 9a2b, 4ab, 5ba2, 7b2a, 3ab

3. 4ab, 4a, 4b



4. 9a2b, Sbaz, 7b2a,
Correct Answer :-

. 9a2b, 5ba?

24) ABCD is a parallelogram and E and F are the centroids of triangles ABD and BCD respectively. If AC=12 cm, then EF=?/
ABCD T&% HWHIaR 9g4 € 3R E 3R F I f31yst ABD 3R BCD & ¥ &1 3f3 AC = 12 AW §, @t EF =2

1.2 cm/2 3

2.6 cm/ 69

3.4 cm/4 98

4.8 cm/ 83

Correct Answer :-

« dcm /49

25) Ajay has a plot in the shape of a regular hexagon. He buys a plot that shares a side with one of the sides of the hexagon. The new plot is in
shape of a square with area ‘4a2’ m2. Find the total cost of fencing land owned by Ajay at rate of Rs. 453/m? /

IS F U TH YEYH PR & YA T TP gHel 81 98 TP 30 YA T ghel Wiledl & Wl TU Yoy & fFRI & J forlt v o & ary fpmy
[T BT 8| T YA BT gheT TR 8 ora®T v ‘4a2 W2 B1 3oy F Wifire arelt Yy & 453 Fud/Hex & R A 918 TH & $d anTd J1d
Ead)

1. Rs. 7248a / 7248a 0

2. Rs. 9060a / 9060a TTI

3. Rs. 8607a / 8607a TG

4. Rs. 7482 / 7482 300

Correct Answer :-

« Rs. 7248a/ 72482 ¥Ud

26) are logical consequences of the accepted axioms. /

_ ipa fysidl & aifde ufvoma 7
1. Conjectures / 3TTHIT
2. Theorems / Elﬁ'q

3. Postulates / SfHeRoT
4. Corollaries /G'q'qffq

Correct Answer :-

e Theorems / uHg

27) The price of 12 plates and 8 glasses is Rs. 528. If price of one glass is Rs. 18, then what is the price of 6 plates? /
12 Wiel 3R 8 et &1 Yo 528 $UA ?1 Ul U M &1 4o 18 U 7, @Y 6 Wl &1 Yo {1 82

1. Rs. 292 /292 30

2.Rs. 192/192%W0

3.Rs. 200/200 30

4.Rs. 384 /384 390

Correct Answer :-

o Rs. 192/192%00



28) The area of a circle that can be inscribed in a square of side 8 cm is /

AWM YT A Th T F SAfa A TP U BT eAwa 1

, 24msqem f24m T3 T

5 16 sqcm /16w Tar AT

3 36 wsqcm f36m dar AT

4 6msqem [6m gar FHT

Correct Answer :-

16msqem 16w Tt AT

29) The word ‘Jiva’- half-chord from Aryabhatiyam translated into Arabic also means -/
ARfUEH | Teg AT — 516 F1S Bt R H srgarfea prA wgwadT od _ v gk
1. Tan /9T (%7{)

2. Secant / YT

3. Cos / I (1Y)

4. Sinus / ST (A1)

Correct Answer :-

o Sinus / STT (HIgY)

30) The ratio between any two adjacent Fibonacci numbers (after 3) is about 1:1.6. Thisratioiscalledas_ . /

ot oft 3 smre fpaRe Tt (3 & a1e) & oI BT 3UTd, AT 1: 1.6 31 SH UG I ____ Hgl Aral gl
1. Golden ratio / Tes IRM

2. Fibonacci sequence / fFaiAIa 3rgeh

3. Golden triangle / Teg HIYS

4. Liber Abaci / feTeR Sferft

Correct Answer :-

o Golden ratio / Tles i QZI

31) (8 —2)and (3,—6) is

The distance between the points ./

g (8, -2)aur (3,-6)FdamIgh Bl
/40 units / \,’EWI%
V41 units / \fﬁﬁé
31 units / \t’ﬁﬁl’é
. /46 units / \.’EE?IE‘C

Correct Answer :-

/41 units / \."Hm



32) The graphic representation of the equations 3x + 2y = 5 & 9x + 6y = 6 gives a pair of: /
FHIBU 3x + 2y = 5Td 9x + 6y = 6 B AW Fegor g 3 &:

1. Intersecting lines / Ufcrasal v@mg

2. Perpendicular lines / edd Y@N¢

3. Coincident lines / TuT Xamg

4. Parallel lines / THMIR @Y

Correct Answer :-
« Parallel lines / THMIAR Y@1Y

33) The ordinate of all points on y-axis is:/
y-31&f W 9t fog e & wife siw #:

1. Any number / aﬂ’%ﬁ Rsrcf

2.0

3.2

4.1

Correct Answer :-
« Any number / ﬁ"éﬁ Rercf

34) Perimeter of rectangle with length 76 meter and breadth 48 meter: /
76 Tex @t 3R 48 Hiex NSt TP 3w FT AT §:

1. 240 HicR

2. 124 HieR

3. 248 HIcR

4,126 HIcR

Correct Answer :-

. 248 iR

35) The number of times a particular item occurs in a given data is called its .
forg T siiwsT A U fasiv ug & i g aTelt e o sueT FEI T8
1. cumulative frequency / St SRERAT

2. variation / f¥efa

3. frequency / SRERT

4. class size / T SfRTA

Correct Answer :-

¢ frequency / IRERAT

36) The following sizes of shoes were sold in a day. Calculate the mode.
58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9 and 5

Frafafad smeR ¥ 99 te 37 & 33 1Y 9gas &) TAT 1|

58,9,5,6,4,9,3,9,3,6,1,9,7,1,2,9Td 5



1.3
2.6
3.5

4.9

Correct Answer :-

37) A circle has two parallel chords of lengths 6 cm and 8 cm .If the chords are 1cm apart and the centre is on the same side of the chords, and then find the length of
diameter of the circle. /

T 9 6 A 3 8 A TS Y &) wwTTeR oftar §1 g Sftar 1 At ¥ @ 3R P oftaT & @R R, A 99 & T B arg 91d B
1. 12 cm/ 12 94t

2.10cm/ 10 3t

3.5cm/ 59

4.6 cm/ 6 I

Correct Answer :-

« 10cm/10 94

38) Choose the number not divisible by 3. /
3 9 fqurfora =181 819 areht W& &1 999 ¥

1. 67890

2. 453627

3. 99999

4. 75286

Correct Answer :-

e 75286

39) Find the additive inverse of integer 97. /
quifes 97 BT ATTHS Ufaard 1 S|
1.79

2.97

3.-97

4.-79

Correct Answer :-

. -97

40) Find the cost of fencing an equilateral triangle of side 64 m at the rate of Rs. 9 per metre. /
64 Wex Yor3il a1at U gHaTg Y # 9 TUd F e | I8 T & AT J1d D1 |

1. Rs. 1728 /1728 W

2. Rs. 2880 /2880 39

3.Rs. 1862/ 1862 300

4. Rs. 1674 /1674 393



Correct Answer :-

« Rs. 1728/1728 300

41) Behavioral objectives are also known as ./
IAEMNB I P S U W IAFATIET R
1. Developmental objectives / ﬁwsﬁm

2. Specific objectives / mm

3. Mastery objectives / aa?rrqpf I

4. Performance objectives / U?«'Qﬁ G%'Q'q

Correct Answer :-

» Performance objectives / UG GQQ?II

42) Reliability of a test means_____./

T W P faygmarsrafg

1. Accuracy of test scores / e 3l Bt qﬁ—%l@?ﬂ
2. Development of test scores / TRI&T 3idi &7 fawm
3. Consistency of test scores /Qﬁ&ﬂ &mﬁaﬂw
4. Rating of test scores /qﬂ&'ﬂ 3fep] @1 T

Correct Answer :-
« Consistency of test scores /Qﬁ&ﬂ 3 BT AT

43) Choose the expression which shows the distributive property of whole number. /
quf e & AR Jur =1 aTelt et &1 T $Y |

1. 441x(352x568)= (441x352)x568

2. 241(367+543)=241x367+543x241

3.831+511=511+831

4. 198+158+217=158+217+198

Correct Answer :-

o 241(367+543)=241x367+543%x241

44) is the creator of logarithm. /
____ g & fEfar gl

1. Cantor / w

2. John Napier / ST AR

3. Newton / ~gc

4. Sylvester / W

Correct Answer :-

 John Napier / i AR

45) ‘Folk algorithms’ of mentally performing number operations, also for measurement, estimation, understanding of shapes and aesthetics prevailed in
the ./



UHRE ¥ A fipareiia sie Jifhrar 1 wie vaniew, st & e, srgame, srpfoul iR Rl gumd forg g, dvafR@dl
1. Formal Education/3fioaies frem

2. Universities / fayfaemea

3. Villages / T

4. Schools / famera

Correct Answer :-

« Villages /TG

46) ‘Bija Ganita’ and ‘Siddhanta Siromani’ are the two important works of ./
et i ok Rrgra RRWRr & 3 wewagf #1d 81

1. Bhaskara-2 / HRhR-2

2. Narayana panditha / TIRTI0T ufed

3. Varahamihira / SRTgHTER

4. Mahavira / AGTAR

Correct Answer :-
¢ Bhaskara-2 / HRR-2

47) The classification of Audio-Visual aids was done by ./
yo-TxY (MTTSa-Faggaren) Weras! dranfferor _ gRT fasam mar
1. Krathwohl / EA%IG)

2. Edgar Dale / TSTR d

3. Bloom / &C[H

4. Anderson / U838+

Correct Answer :-

o Edgar Dale / USTR 3

48) The main logical tool used in establishing the truth of an unambiguous statementis ./
TP HYT B T=TS D1 RATUT HA A W g difbs s 7|

1. Deductive reasoning / e 9%

2. Axiomatic reasoning / mﬁaaﬁ;

3. Logical reasoning / D ab

4. Inductive reasoning / THATHSD GEH

Correct Answer :-

« Deductive reasoning/ﬁ"waé

49) If the co-ordinate of a point is (2, -3), then which quadrant it belongs to? /
afe v fig &1 = (2, -3) B, o us forw agufar @ weifta 2

1. I quadrant /1 %IT:[‘QTSZT

2. IV quadrant / IV TR

3. I quadrant / I IGUTRT

4. 111 quadrant / ITI Tgufer



Correct Answer :-

« 1V quadrant / TV I

50) Number of tickets sold for 5 football matches are 20378, 19872, 20417, 32473 and 23473. Which number is closest to 20000? /
5 Ppedra Tl & e 39 TC fewel P T=AT- 20378, 19872, 20417, 32473 3R 23473 &1 HIF-3 TEAT 20000 F FApeaq g2

1. 20417

2. 19872

3. 32473

4.20378

Correct Answer :-
e 19872

51) A car takes 2 hours to reach a destination by travelling at 60 km/hour. How long will it take while travelling at 90 km/hour. /
TP SR B 60 fHeft/aer 31 7y F g $d g iaed I 96 ugaa § 2 69 T &1 90 fatfi/aer &Y vy 3 amn #3a gu 5@ fran awg s
1. 1 hour 20 minutes / 1 9T 20 fAFfe

2. 2 hours 40 minutes / 2 92T 40 frTe

3.2 hours /2 °¢

4. Thour 30 minutes / 1 &7 30 fiFe

Correct Answer :-
« 1 hour 20 minutes / 1 &7 20 fiFe

52) The circumference of a playground is 44 cm. A circular track of width 4 cm lay outside around it. The area of the circular track is: / T @T’T%ﬁ?ﬁ?ﬁ

Tffer 44 T B 1 3P TRY 3R ATER T 4 I HY ASTE 9T TP TG UY B 1 R UY BT SABA ¢

53) If the difference between the numbers obtained on dividing a positive number x by 5 and by 3 is 1. Then: /

i T YT H&IT x 1 5 3R 3 A Ui v W urw S=msif & &9 o1 3w 1 §, o



Correct Answer :-

54) CANCELLED

0,1,1,2,5,8, 13, 21, 34, 55... and so on is a sequence named after the mathematician .
0,1,1,2,5,8,13, 21, 34, 55... 3R 3 & 3M, TH 3IHH g &l 0T FAIAREI
1. Euclid / gfas

2. Thales / 4

3. Fibonacci / TTEEMT
4. Pythagoras / Eﬂg?ﬂ'rhw

Correct Answer :-

« Fibonacci / BIEEAT

55) CANCELLED

3x + 3x+....100

If times =150, then x= /

afe 3x + 3x+... .10{]11:" =150%,?ﬁx=

b |

w| =

Correct Answer :-

56) Siya attended a mathematical ability test where (+3) marks are given for every correct answer, (—2) marks are given for every incorrect
answer and (-1) mark for every unattended question. Siya scored 80 marks though she got 34 correct answers and left 10 questions. What was the
total number of questions for the test? /

Ryan A v nforea e wdieror & yT fRrar el vl T8l IR F R (+3) 3 AU 9 §, Ul Tad SW & 1Y (-2) o 3T o § ok wle uy rgwifa uy
% forg (-1) 1 Ram A 80 3iw vy b, gTaife SUA 34 TE IR AT 3R 10 vy fa=wm 5 foby s w1 wdien & vl &Y oo Ten fpast Az

1. 48 questions / 48 UH
2. 50 questions / 50 U4
3. 75 questions / 75 Y

4. 60 questions / 60 UH

Correct Answer :-

e 50 questions / 50 U

57) Continuous evaluation is meant to emphasize on ./

Had Yedich WRER A & Rwgar gl
1. retesting and feedback of evidence to teachers and students only / Fad el 3R BE & 1%1@ H1&T DT E:Ttlﬁ&fUT 3R ufafspar



2. diagnosis of learning gaps, use of corrective measures only / Fad T avrd] BT fFgH, ﬁwm BT IUGNT
3. all of the above /mﬂﬁ-ﬁ
4. regulation of assessment in total teaching-learning purpose only / Had quUf fRrefor-arfrm o W &1 o

Correct Answer :-

« all of the above / SURTaT Taft

58) An Autocratic style of teaching is also known as ./

g1 9 te PR (sifctwied) Asht w1 F wu # oft ST S 31
1. Informal style / TR Aeft

2. Integrative style / Thigpd At

3. Student-centered style | BTA-Bfsd et

4. Teacher-centered style / fRi&fep-pf5d cht

Correct Answer :-

o Teacher-centered style / Rrerp-Fi=d IS

59) Negative Reinforcement precedes the responseand ______ succeeds the response. /
APRIAS YA Ufaferar & Ugd ghar g 3R wfafehar & yyTa gar g1
1. punisher / & &Il (& & aTe)

2. prover / RIG & aren

3. prediction / AU

4, investigator / 3{-AY (STTd B ITa)

Correct Answer :-

« punisher / &S T (S8 S ATeN)

60) p:5+4 =9(T)

q:5x(-12)<-100(f)

The truthfulness or the falsity of statements we use in daily life is called its

/ p:5+4 = 9(T)

q:5x(-12)<-100(f)

A Sita & gUR gRT SUA fPT oM aTd HUT B TAA AW AT B ___ ST o gl
1. truth value / g HIT

2. conjunction / TS

3. connectiveness / Tl (dndlfd\CddH)

4. falsity / I

Correct Answer :-

o truth value / I HIH



